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Volume of revolution  
 

1. Rotate the region bounded by f(x) = √𝑥; 

 g(x) = 3 and the y-axis about the y-axis. 

 
2435 𝜋 

2. Rotate the region bounded by f(x) = 7 – x2; 

 x = –2; x = 2 and the x-axis about the x-axis.  201215 𝜋  

3. Rotate the region bounded by x = y2 – 6y + 10; 

 x = 5 about the y-axis.  108815 𝜋  

4. Rotate the region bounded by f(x) = 2x2; 

 g(x) = x3 about the x-axis.  25635 𝜋  

5. Rotate the region bounded by f(x) = 6e–2x; 

 g(x) = 6 + 4x – 2x2 between x = 0 and x = 1 

about the line y = –2.  (93715 + 12𝑒−2 + 9𝑒−4)𝜋  

6. Rotate the region bounded by f(x) = 10 – 6x + x2; 

 g(x) = –10 + 6x – x2; x = 1 and x = 5 about the 

line y = 8.  8963 𝜋  

7. Rotate the region bounded by x = y2 – 4 ; 

 x = 6 – 3y about the line x = 24.  3155615 𝜋  

8. Rotate the region bounded by f(x) = 2x + 1; 

 x = 4 and y = 3 about the line x = –4.  126𝜋  

 

http://www.mathssupport.org/

